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WORKENQ & & ANSWERS FOR PLE 2@“7

/

lem rep ISkm '
6 3 q | (a).even
4 I0cm rep. (I5 X 10)km e
+ 43860 1 (b). frequency
19000 OJ |Ocm rep. 150km
/ = LxWxH ° | w
v SLxXVV X T = (12:00 - 8:00) + Zhr Hint: Comp. angles add up
\\'; i 6;)"5’“ WA T =Yhr+ 2hr to 90°
=|
" T =6hrs {0 =90°- 4%
Vv = (120 x 1000) litres
V = 120,000 litres The Journey took 6 hours = 47
7 = (246 x 100) - 246 : FO— sum of items A 7,000,000
number of items 700,00 0
= 24,600 - 246 _ 61+ 52+ 48+ 21+ 58
= S -+ 7
= 24,354
= 280 7,700,007
5
= 43
01§ x 1,000 + 5 x 100,000 | ' 28+6 =17 | -850 + (850 x 2
= 1746 ="l
8,000 + 500,000 + -850 + 170
= g 6 =75
508,000 | + 1,020
5+6 =I
-23; “17; *ls “5s 1
31 Hint: Follow BODMAS 1| Hint: Neg. removes the brkts 51 Hint: Prime numbers are
= (250 + 180) - 15 + 3 3x-5x+2 =0 numbers with only two
_u430-5 "+ 2-2 =0-12 foctors i.e one and itself.
2x _2
= 425 = E
o =9 5 3B f
16 17 18 360°
| ha =100a | - 7 e
.angle
25 o
0.25ha =— % 100 " _ 360
100 S R ™ B
= 2bares (. Owe = 18 sides
9 20 2 .
3720 + 60 = 62 min OOsec (a). ANB = 1{3,11,27} (100 - 16)% — 4,200F
84% — 4,200F
62+ 60 =lhr 2min (b). Set B is a subset of set A 4,200
' ' ' % =a
Therefore: 100% 4,2008: 100
3720sec = lhour 2mins — 5,000Frw

MATHEMATICS PLE & MOCK PAST PAPER REVISION WORKBOOK BY EXCEL EDUCATIONAL SERVICES :—o. = T 7o . Page 112 of 150




)k i -

72

$ || 2624 | 208

(b). AS=

~ Total Time Taken

_ 180km + 180km
T 3hr + 2hr

_ 360km

" Shr

= 72km/hr

(b). Amount

M1 45 =le4m .
Sevepty five and twenty seven ‘72 372 | 104 i § (164 = 1)
. = - 1)m
hundredths 2| 156 | 52
7 78| 26| = 16%3x%13 S =Him
; = A = S X S
Or: Seventy five point two Ig 3|: ]Ig bas " £ b5
= Ylm x Yim
seven I A =168Im?
® 26 | Hint: First reduce all fractions v Side b = (I5m + 6m) = 2Im
to the lowest terms then use h(a+ b)
é$ .9 &R BODMAS A==
— 2 | 7 4 —3><3+1 ‘=8(15+21)m2
3 .82 6 4 3 2 “
1.1 1+1 2 = (4 x 36) m?
= - + - = =— =|
2 2 2 2 = |L}L{m2
#\ 3 guests =l table 2 (a). Ni = b _BE0m. . smn %0 lEach = (4500 = 16) = 300F
Li 20m
| quest = table Rest = (300 +75) = 375F
235 quests = 1 x 235 tables (b). NP = Ni+1 Paid = (4500 = 375) =12 chrn
= 29 tables and 3 guest rem. =277 + | Unable to pay = 15~ 2
=29 +1 = 30 tables = 278 poles = 3 children
3| TSA = ﬂ.’T(T + l) 32 T o Product of Time ¥ | nd mix
=314 x 6 (6 +10) Difference of Time o G0 m 3
=18.84 X 16 AR ¢
= 301.44cm? 4-3 Px/kg n 300 | 500
_12
Note: first find the height 3 hrs (5 x 1) + (4 x 300) = (4 x 500)
h =VH? — b* = |2 hours 5 _
n +1200 =4500
=4/102 — 62
5 = 4500 - 0]
- /100 =36 n =4500-120
5 3300
=64 cm? = mES
o " ?Cm n = 660Frw
_1 2
Vel g i Therefore the cost of the second
_ 314 x 6 X6 X8
- 3 type is 660F/ka.
=30L.44 cm?
3 (a).D =SxT 3 (a). First year
= 60km/hr x 3hr _PTR  _ 180000 x1x10 -
* 00 o0 18,000Frw
= 180km A =P+l =180,000+ 18,000 = 198,000Frw
The distance from town A to
Second year
town B is 180km.
I - fﬂ i 198000 x1 x10 - lq.SOOFrW
Total Distance 100 100

Compound Interest = 18, 00OF + 19,800F =37,800Frw
= Principal + Compound Interest *

= 130,000F + 37,800F

= 217,800Frw
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